[bookmark: _GoBack]Consider the fact that in the market for carbonated drinks in the US, the Coca-Cola Company and Pepsi Co. supply a tremendous share of the market (to be more specific, about 60 % of it, split 40% and 20% respectively). This is especially true for cola-flavored drinks. Despite this, we do not see cola prices from Pepsi and Coca-Cola go much higher than other carbonated drinks (even if in the carbonated drinks market, and further, the cola subdivision of it, they do not have close substitutes). Why do the prices of Coke and Pepsi stay where they are, instead of substantially increasing? Discuss and arrange the following explanations in the order from most likely to least likely.

A. The government has strictly enforced anti-trust (i.e., anti-collusion) legislation which prevents the collusive price increase from occurring.
B. It is difficult for Coca-Cola and Pepsi to covertly negotiate a price increase.
C. Coca-Cola and Pepsi would be greatly concerned by the response of the smaller producers who might capture some of the market away from them despite brand loyalty.
D. Coca-Cola and Pepsi are concerned by each other’s behavior even if they could covertly negotiate a collusive agreement and form a cartel.

